

## Congruences for the partition function modulo powers of 5

by

TORLEIV KLØVE (Bergen)

1. Let  $p(n)$  denote the number of unrestricted partitions of  $n$  and define  $P(n)$  by

$$P(24n-1) = p(n)$$

$$P(n) = 0 \quad \text{if} \quad n \not\equiv -1 \pmod{24}.$$

Let

$$\psi = \psi(y) = y \prod_{n=1}^{\infty} (1 - y^{24n}).$$

Then it is well known that

$$\psi^{-1} = \sum_{n=-1}^{\infty} P(n)y^n.$$

We define

$$\left( \sum_n a(n)y^n \right)_- = \sum_{\left(\frac{n}{5}\right)=-1} a(n)y^n$$

where  $\left(\frac{n}{5}\right)$  is the Legendre symbol. Kolberg [3] proved that

$$(1) \quad (\psi^{-1})_- = \frac{1}{\psi(y^5)^6} \{ \psi(y)^3 \psi(y^{25})^2 + 5\psi(y)^2 \psi(y^{25})^3 + 10\psi(y) \psi(y^{25})^4 + 10\psi(y^{25})^5 \}.$$

From this he could prove [4] that

$$(2) \quad (\psi^{-1})_- \equiv (\psi^{23})_- \pmod{5}.$$

Combining this with the three term recurrence relation for the coefficients of  $\psi^{23}$  found by Newman [6] we get the following congruence which was given by Atkin [1]. For  $q$  a prime  $> 5$  and for  $n$  such that  $(n/5) = -1$  we have

$$(3) \quad q^3 P(q^2 n) - \left( q \left( \frac{-3n}{q} \right) + k \right) P(n) + P(q^{-2} n) \equiv 0 \pmod{5}.$$

If we put  $y = e^{\pi i x/12}$ ,  $\psi^{-1}$  and  $\psi^{23}$  are modular forms on the full modular group with the same multiplier system,  $\psi^{-1}$  has dimension  $1/2$  and  $\psi^{23}$  is a cuspform with dimension  $-23/2$ . The main result of this paper is that for each  $\beta \geq 0$ , there exists a cuspform  $f_\beta$  on the full modular group, with the same multiplier system as  $\psi^{-1}$  and with dimension  $-(24 \cdot 5^\beta - 1)/2$ , such that  $(\psi^{-1})_- \equiv (f_\beta)_- \pmod{5^{\beta+1}}$ . A basis for the vector space  $\Omega_\beta$  of such cuspforms is

$$\{\psi^{24 \cdot 5^\beta - 1} j^m \mid m = 0, 1, \dots, 5^\beta - 1\}$$

where

$$j = \psi^{-23} \left( 1 + 240 \sum_{n=1}^{\infty} \sigma_3(n) y^{24n} \right)^3$$

is known as Klein's modular invariant, see e.g. [2]. In this paper we also study  $(\psi^{24 \cdot 5^\beta - 1} j^m)_-$ .

2. We shall use the following notations:

$$\psi_m = \psi(y^m), \quad T = \psi_5^6 \psi_{25}^{-6}, \quad U = \psi_5^6 \psi^{-6}, \quad V = \psi \psi_{25}^{-1}.$$

Further, if

$$\psi = \sum_{n=1}^{\infty} A(n) y^n,$$

then let

$$G_i = \sum_{n \equiv i \pmod{5}} A(n) y^n,$$

$$S_r = G_1^r G_0^{-r} + G_{-1}^r G_0^{-r}.$$

Kolberg [3] proved that

$$G_1 G_{-1} G_0^{-2} = -1,$$

$$V = -G_1 G_0^{-1} - G_{-1} G_0^{-1} - 1,$$

$$S_5 = -T - 11.$$

Combining these we get

LEMMA 1. (i)  $V = -S_1 - 1,$

$$V^2 = S_2 + 2S_1 - 1,$$

$$V^3 = -S_3 - 3S_2 + 5,$$

$$V^4 = S_4 + 4S_3 + 2S_2 - 8S_1 - 5,$$

(ii)  $T = V^5 + 5V^4 + 15V^3 + 25V^2 + 25V.$

We note that Lemma 1(ii) is the modular equation for 5.

Let  $\pi(n)$  denote the exact power of 5 dividing  $n$ .

LEMMA 2. For  $k \geq 0$  we have

$$V^{-k} = \sum_{l \geq 0} \sum_{m=0}^4 a(k, l, m) T^{-l} V^m$$

where  $a(k, l, m)$  are integers such that

(i)  $a(k, l, m) = 0$  for  $5l - m < k,$

(ii)  $a(5l - m, l, m) = 1,$

(iii)  $\pi(a(k, l, m)) \geq \left\lfloor \frac{5l - m - k + 1}{2} \right\rfloor.$

Proof by induction on  $k$ . It is clearly true for  $k = 0$ , with  $a(0, 0, 0) = 1$ . By Lemma 1(ii) we get

(4) 
$$V^{-1} = T^{-1}(V^4 + 5V^3 + 15V^2 + 25V + 25)$$

which proves the lemma for  $k = 1$ . Suppose it is true for some  $k \geq 1$ . Then

$$V^{-k-1} = \sum_{l \geq 0} \sum_{m=1}^4 a(k, l, m) T^{-l} V^{m-1} + \sum_{l \geq 0} a(k, l, 0) T^{-l-1} \sum_{m=0}^4 a(1, 1, m) V^m.$$

Hence

$$a(k+1, l, 4) = a(k, l-1, 0),$$

$$a(k+1, l, m) = a(k, l, m+1) + a(k, l-1, 0) a(1, 1, m)$$

for  $0 \leq m \leq 3.$

From this (i) and (ii) follows easily. Finally

$$\begin{aligned} \pi(a(k+1, l, 4)) &= \pi(a(k, l-1, 0)) \geq \left\lfloor \frac{5l-5-0-k+1}{2} \right\rfloor \\ &= \left\lfloor \frac{5l-4-(k+1)+1}{2} \right\rfloor \end{aligned}$$

and

$$\begin{aligned} \pi(a(k+1, l, m)) &\geq \min \left\{ \left\lfloor \frac{5l-m-1-k+1}{2} \right\rfloor, \left\lfloor \frac{5l-5-k+1}{2} \right\rfloor + \left\lfloor \frac{5-m}{2} \right\rfloor \right\} \\ &= \left\lfloor \frac{5l-m-(k+1)+1}{2} \right\rfloor. \end{aligned}$$

LEMMA 3. For  $\beta \geq 0$  we have

$$\psi^{24 \cdot 5^\beta - 1} U^{-5^\beta + \gamma} \equiv \psi_{25}^{-1} T^\gamma V^{-6\gamma-1} \pmod{5^{\beta+1}}.$$

Proof. Kolberg ([5], Lemma 5) notes that

$$\psi_{p^{\beta}}^{\psi^{\beta}} \equiv \psi^{p^{\alpha+\beta}} \pmod{p^{\beta+1}}.$$

Hence

$$\psi_5^{5^{\beta}} \equiv \psi^{5^{\beta+1}} \pmod{5^{\beta+1}}$$

and so

$$\psi^{24 \cdot 5^{\beta-1}} U^{-5^{\beta+\gamma}} \equiv \psi^{-1} U^{\gamma} = \psi_{25}^{-1} T^{\gamma} V^{-6\gamma-1} \pmod{5^{\beta+1}}.$$

LEMMA 4. For  $\gamma \geq 0$  there exist integers  $b(\gamma, n)$  such that

$$(i) \pi(b(\gamma, n)) \geq \left\lfloor \frac{5n+1}{2} \right\rfloor,$$

$$(ii) j^{5^{\beta-\gamma}} \equiv \sum_{n=0}^{\infty} b(\gamma, n) U^{-5^{\beta+\gamma+n}} \pmod{5^{\beta+1}}.$$

Proof. Aas [7] gives the following identity:

$$j = U^{-1} + 6 \cdot 5^3 + 63 \cdot 5^5 U + 52 \cdot 5^8 U^2 + 63 \cdot 5^{10} U^3 + 6 \cdot 5^{13} U^4 + 5^{15} U^5 \\ = U^{-1} \sum_{n=0}^6 B(n) U^n.$$

From this we get

$$(5) \quad j^{5^{\beta}} \equiv U^{-5^{\beta}} \pmod{5^{\beta+1}}.$$

Further

$$(6) \quad j^{-1} \equiv U \sum_{n=0}^{\infty} b(1, n) U^n \pmod{5^{\beta+1}}$$

where

$$b(1, n) = 0 \quad \text{for } n < 0, \quad b(1, 0) = 1,$$

$$(7) \quad \sum_{m=0}^6 B(m) b(1, n-m) = 0.$$

We now prove by induction that

$$(8) \quad \pi(b(1, n)) \geq \left\lfloor \frac{5n+1}{2} \right\rfloor.$$

It is true for  $n \leq 1$ . Since  $\pi(B(m)) = \left\lfloor \frac{5m+1}{2} \right\rfloor$ , we get by (7),

$$\pi(b(1, n)) \geq \min_{1 \leq m \leq 6} \left\{ \left\lfloor \frac{5m+1}{2} \right\rfloor + \left\lfloor \frac{5n-5m+1}{2} \right\rfloor \right\} = \left\lfloor \frac{5n+1}{2} \right\rfloor.$$

Next, we show by induction that

$$(9) \quad j^{-\gamma} \equiv U^{\gamma} \sum_{n=0}^{\infty} b(\gamma, n) U^n \pmod{5^{\beta+1}}$$

where

$$(10) \quad \pi(b(\gamma, n)) \geq \left\lfloor \frac{5n+1}{2} \right\rfloor.$$

We have proved it for  $\gamma = 1$ . Further

$$j^{-\gamma-1} \equiv U^{\gamma+1} \sum_{n=0}^{\infty} b(1, n) U^n \sum_{n=0}^{\infty} b(\gamma, n) U^n \pmod{5^{\beta+1}}.$$

Hence

$$b(\gamma+1, n) = \sum_{m=0}^n b(1, m) b(\gamma, n-m)$$

and so

$$\pi(b(\gamma+1, n)) \geq \min_{0 \leq m \leq n} \left\{ \left\lfloor \frac{5m+1}{2} \right\rfloor + \left\lfloor \frac{5n-5m+1}{2} \right\rfloor \right\} \geq \left\lfloor \frac{5n+1}{2} \right\rfloor.$$

Combining (5) and (9) we get Lemma 4 (ii) and (10) gives Lemma 4(i). The reason why we take congruences in (6) and (9) is that, by (8) and (10), all but finitely many of the terms are congruent 0 modulo  $5^{\beta+1}$  so we do not have to think about convergence.

LEMMA 5. For  $\gamma \geq 0$  there exist integers  $c(\gamma, \lambda, m)$  such that

$$(i) \quad c(\gamma, \lambda, m) = 0 \quad \text{if } 5\lambda \leq \gamma + m,$$

$$(ii) \quad c(5\lambda - m - 1, \lambda, m) = 1,$$

$$(iii) \quad \pi(c(\gamma, \lambda, m)) \geq \left\lfloor \frac{5\lambda - \gamma - m}{2} \right\rfloor, \quad \text{and}$$

$$(iv) \quad \psi^{24 \cdot 5^{\beta-1}} j^{5^{\beta-\gamma}} \equiv \psi_{25}^{-1} \sum_{\lambda \geq 0} \sum_{m=0}^4 c(\gamma, \lambda, m) T^{-\lambda} V^m \pmod{5^{\beta+1}}.$$

Proof. Combining Lemmata 2, 3, and 4 we get

$$\psi^{24 \cdot 5^{\beta-1}} j^{5^{\beta-\gamma}} \equiv \sum_{n=0}^{\infty} b(\gamma, n) \psi^{24 \cdot 5^{\beta-1}} U^{-5^{\beta+\gamma+n}} \equiv \psi_{25}^{-1} \sum_{n=0}^{\infty} b(\gamma, n) T^{\gamma+n} V^{-6\gamma-6n-1} \\ \equiv \psi_{25}^{-1} \sum_{n=0}^{\infty} b(\gamma, n) T^{\gamma+n} \sum_{l \geq 0} \sum_{m=0}^4 a(6\gamma+6n+1, l, m) T^{-l} V^m.$$

Putting  $\lambda = l - \gamma - n$  we get

$$c(\gamma, \lambda, m) = \sum_{l \geq \lambda + \gamma} b(\gamma, l - \lambda - \gamma) a(6l - 6\lambda + 1, l, m).$$

From Lemmata 2 and 4 we see that we get contribution to the sum only if

$$(11) \quad l \geq \lambda + \gamma$$

and

$$5l - m \geq 6l - 6\lambda + 1,$$

i.e.

$$(12) \quad l \leq 6\lambda - m - 1.$$

Hence if  $6\lambda - m - 1 \leq \lambda + \gamma - 1$ , then  $c(\gamma, \lambda, m) = 0$ . This proves (i).

Further

$$c(5\lambda - m - 1, \lambda, m) = b(5\lambda - m - 1, 0) a(30\lambda - 6m - 5, 6\lambda - m - 1, m) = 1.$$

Finally

$$\begin{aligned} \pi(c(\gamma, \lambda, m)) &\geq \min_{l \geq \lambda + \gamma} \left[ \left\lfloor \frac{5l - 5\lambda - 5\gamma + 1}{2} \right\rfloor + \left\lfloor \frac{5l - m - 6l + 6\lambda - 1 + 1}{2} \right\rfloor \right] \\ &= \left\lfloor \frac{5\lambda - \gamma - m}{2} \right\rfloor. \end{aligned}$$

LEMMA 6. Let

$$W = \sum_{m=0}^4 d_m V^m.$$

Then

$$(i) \quad W_- = (d_3 - 4d_4)(V^3)_- + (d_2 - 10d_4)(V^2)_-,$$

$$(ii) \quad (f(y^5)W)_- = f(y^5)W_- \text{ for any } f.$$

Proof. From the definition of  $S_r$  it is clear that

$$(S_r)_- = \begin{cases} S_r & \text{if } \left(\frac{r}{5}\right) = -1, \\ 0 & \text{otherwise.} \end{cases}$$

Hence (i) follows from Lemma 1(i). Further, (ii) is well known and we skip the easy proof.

LEMMA 7. Let

$$f = \psi_{25}^{-1} \sum_{i \geq \delta} T^{-i} \{r_0(i)(V^3)_- + r_1(i)(V^2)_-\}$$

where  $1 \leq \delta \leq 5^{\beta-1}$ , and  $r_i(l)$  are integers such that

$$\pi(r_i(l)) \geq \left\lfloor \frac{5l+t}{2} \right\rfloor + i$$

for some fixed  $t$ . Then there exist integers  $s_i, r'_i(l)$ , not depending on  $\beta$ , such that

$$\begin{aligned} f - (\psi^{24 \cdot 5^{\beta-1}} \{s_0 j^{5^{\beta-5\delta+4}} + s_1 j^{5^{\beta-5\delta+3}}\})_- \\ \equiv \psi_{25}^{-1} \sum_{i \geq \delta+1} T^{-i} \{r'_0(i)(V^3)_- + r'_1(i)(V^2)_-\} \pmod{5^{\beta+1}}, \end{aligned}$$

and

$$\pi(s_i) \geq \left\lfloor \frac{5\delta+t}{2} \right\rfloor + i, \quad \pi(r'_i(l)) \geq \left\lfloor \frac{5l+t-1}{2} \right\rfloor + i.$$

Proof. Since

$$(\psi^{24 \cdot 5^{\beta-1}} j^{5^{\beta-5\delta+4}})_- \equiv \psi_{25}^{-1} \left\{ T^{-\delta}(V^3)_- + c(5\delta-4, \delta, 2)T^{-\delta}(V^2)_- + \sum_{i>\delta} \dots \right\}$$

and

$$(\psi^{24 \cdot 5^{\beta-1}} j^{5^{\beta-5\delta+3}})_- \equiv \psi_{25}^{-1} \left\{ T^{-\delta}(V^2)_- + \sum_{i>\delta} \dots \right\}$$

by Lemmata 5 and 6, the stated result follows with

$$s_0 = r_0(\delta),$$

$$s_1 = r_1(\delta) - s_0 \cdot c(5\delta-4, \delta, 2),$$

$$r'_0(l) = r_0(l) - s_0 \{c(5\delta-4, l, 3) - 4c(5\delta-4, l, 4)\} -$$

$$-s_1 \{c(5\delta-3, l, 3) - 4c(5\delta-3, l, 4)\},$$

$$r'_1(l) = r_1(l) - s_0 \{c(5\delta-4, l, 2) - 10c(5\delta-4, l, 4)\} -$$

$$-s_1 \{c(5\delta-3, l, 2) - 10c(5\delta-3, l, 4)\}.$$

Here

$$\pi(s_0) = \pi(r_0(\delta)) \geq \left\lfloor \frac{5\delta+t}{2} \right\rfloor,$$

$$\pi(s_1) \geq \min \left\{ \left\lfloor \frac{5\delta+t}{2} \right\rfloor + 1, \left\lfloor \frac{5\delta+t}{2} \right\rfloor + \left\lfloor \frac{5\delta-5\delta+4-2}{2} \right\rfloor \right\} = \left\lfloor \frac{5\delta+t}{2} \right\rfloor + 1,$$

$$\begin{aligned} \pi(r'_0(l)) &\geq \min \left\{ \left\lfloor \frac{5l+t}{2} \right\rfloor, \left\lfloor \frac{5\delta+t}{2} \right\rfloor + \left\lfloor \frac{5l-5\delta+1}{2} \right\rfloor, \left\lfloor \frac{5\delta+t}{2} \right\rfloor + \right. \\ &\quad \left. + \left\lfloor \frac{5l-5\delta}{2} \right\rfloor, \left\lfloor \frac{5\delta+t}{2} \right\rfloor + 1 + \left\lfloor \frac{5l-5\delta}{2} \right\rfloor, \left\lfloor \frac{5\delta+t}{2} \right\rfloor + 1 + \left\lfloor \frac{5l-5\delta-1}{2} \right\rfloor \right\} \\ &\geq \left\lfloor \frac{5l+t-1}{2} \right\rfloor. \end{aligned}$$

Similarly

$$\pi(r'_1(l)) \geq \left\lfloor \frac{5l+t-1}{2} \right\rfloor + 1.$$

Now we can prove our main theorem.

THEOREM 1. There exist integers  $s_0(\delta), s_1(\delta)$ , not depending on  $\beta$ , such that

$$(i) \quad \pi(s_i(\delta)) \geq 2\delta - 2 + i,$$

(ii)  $(\psi^{-1})_- \equiv (\psi^{24 \cdot 5^{\beta-1}} \sum_{\delta \geq 1} \{s_0(\delta)j^{5^{\beta}-5\delta+4} + s_1(\delta)j^{5^{\beta}-5\delta+3}\})_- \pmod{5^{\beta+1}}$  for  $\beta \geq 0$ .

Proof. By (4)

$$\psi^{-1} = \psi_{25}^{-1}V^{-1} = \psi_{25}^{-1}T^{-1}(V^4 + 5V^3 + 15V^2 + 25V + 25).$$

Hence, by Lemma 6,

$$(\psi^{-1})_- = \psi_{25}^{-1}T^{-1}((V^3)_- + 5(V^2)_-).$$

Applying Lemma 7 repeatedly, first with  $\delta = 1$  and  $t = -4$ , next with  $\delta = 2$  and  $t = -5$  and so on we get Theorem 1.

Similarly, if we start with the expression for  $\psi^{24 \cdot 5^{\beta-1}}j^{5^{\beta}-\gamma}$  given in Lemma 5 and apply Lemma 7 repeatedly we get the next theorem.

**THEOREM 2.** For  $\gamma > 0$ ,  $\gamma \equiv 3, 4, 5 \pmod{5}$  there exist integers  $t_0(\gamma, \delta)$  and  $t_1(\gamma, \delta)$ , not depending on  $\beta$ , such that

(i)  $\pi(t_i(\gamma, \delta)) \geq 2(\delta - \delta_0) + \varepsilon_0 + i$ ,

(ii)  $(\psi^{24 \cdot 5^{\beta-1}}j^{5^{\beta}-\gamma})_- \equiv (\psi^{24 \cdot 5^{\beta-1}} \sum_{\delta \geq \delta_0} \{t_0(\gamma, \delta)j^{5^{\beta}-5\delta+4} + t_1(\gamma, \delta)j^{5^{\beta}-5\delta+3}\})_- \pmod{5^{\beta+1}}$

or  $\beta \geq 0$ , where  $\delta_0 = \delta_0(\gamma) = -\left\lfloor \frac{-\gamma-3}{5} \right\rfloor$  and

$$\varepsilon_0 = \varepsilon_0(\gamma) = \begin{cases} 0 & \text{if } \gamma \equiv 5 \pmod{5}, \\ 1 & \text{if } \gamma \equiv 3, 4 \pmod{5}. \end{cases}$$

**COROLLARY.** The vector space

$$\Omega_{\beta}^- = \{(f)_- \pmod{5^{\beta+1}} \mid f \in \Omega_{\beta}\}$$

is spanned by  $(\psi^{24 \cdot 5^{\beta-1}}j^{5^{\beta}-\gamma})_-$  where  $\gamma$  runs through the set

$$\{\gamma \mid 0 < \gamma < 5^{\beta} \ \& \ \gamma \equiv 1, 2 \pmod{5}\} \cup \{\gamma \mid 0 < \gamma < 5^{\beta} \ \& \ 2(5^{\beta-1} + 1 - \delta_0(\gamma)) + \varepsilon_0(\gamma) \leq \beta\}.$$

The integers  $s_i(\delta)$  may be computed from the formulae given in the proofs of lemmata and Theorem 1. The first few values are

- $s_0(1) = 1,$
- $s_1(1) = 149 \cdot 5,$
- $s_0(2) = -12, 288, 268, 243, 031 \cdot 5^2,$
- $s_1(2) = -9, 705, 652, 584, 447, 470 \cdot 5^3.$

The values are increasing very rapidly as one would expect because of the large power of 5 in  $b(\gamma, n)$ .

**3.** Using Hecke theory one can prove that the coefficients of  $f \in \Omega_{\beta}$  satisfy recurrence relations with  $\leq 2 \dim \Omega_{\beta} + 1 = 2 \cdot 5^{\beta} - 1$  terms, for

details see [2]. Since the operator  $( )_-$  commutes with the Hecke operators, we can show similarly that the coefficients of  $(f)_-$  satisfy recurrence relations with  $\leq 2 \dim \Omega_{\beta}^- + 1$  terms modulo  $5^{\beta+1}$ . Hence the corollary gives an upper bound on the number of terms in such congruences. Atkin [1] has found such three term congruences modulo  $5^6$ , in fact (3) is true modulo  $5^6$ .

**References**

- [1] A. O. L. Atkin, *Multiplicative congruence properties and density problems for  $p(n)$* , Proc. London Math. Soc. (3), 18 (1968), pp. 563-576.
- [2] T. Kløve, *Recurrence formulae for the coefficients of modular forms*, Math. Scand. 26 (1970), pp. 221-232.
- [3] O. Kolberg, *Some identities involving the partition function*, ibid. 5 (1957), pp. 77-92.
- [4] — *Some congruences modulo 7 involving the partition function*, Årbok Univ. Bergen, Mat.-Naturv. Ser. 1959, No 14.
- [5] — *An elementary discussion of certain modular forms*, Årbok Univ. Bergen, Mat.-Naturv. Ser. 1959, No 16.
- [6] M. Newman, *Periodicity modulo  $m$  and divisibility properties of the partition function*, Trans. Amer. Math. Soc. 97 (1960), pp. 225-236.
- [7] H.-F. Aas, *Congruences for the coefficients of the modular invariant  $j(\tau)$* , Math. Scand. 14 (1964), pp. 185-192.

Received on 1. 3. 1977  
and in revised form on 28. 11. 1977

(918)